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= 0. m, T = 050, u =10 ms | = 2"
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(A = 0.645um, T = 414, u = 1.0 ms™ ', 6, = 18.2")

WATER CLOUD (R; = 6um)

0

0.300

0.250

0.203

0.155

0.108

0.060
180

ICE CLOUD (Ry = 20um)

0
0.300

0.250

0.203

0.155

0.108

0.060

180



= 0. m, T = 00, u= 0O ms | =18.2"
A 0.645u 0.0 10.0 W90 18.2

WATER CLOUD (R, = 6um)

0

0.30

0.25

0.20

0.16

0.11

0.06
180

ICE CLOUD (Ry = 20um)

0
0.30

0.25

0.20

0.16

0.11

0.06

180



A = 0.645um, T = 0.50, u = 10.0 ms™'. . = 18.2°
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(A = 0.645um, T = 414, u = 1.0 ms™ ', 6, = 18.2")
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(A = 0.645um, T = 0.50, A_,, = 0.05, 6, = 18.2")
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(A = 0.645um, T = 1.0, A, = 0.05, 6, = 18.2)
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(A = 0.645um, T = 4.14, A_, = 0.05, 6, = 18.2")
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